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QUESTION 1

When run in a two node cluster, what does the lltstat -nvv command show? 

A. only LLT information for the node the command was run on 

B. LLT information for all configured nodes in the cluster 

C. LLT information for any cluster nodes attached to the same switch 

D. only LLT information for nodes verified by Veritas Cluster Server to be active 

Correct Answer: B 

 

QUESTION 2

When preparing to install Veritas Cluster Server (VCS) on systems S1 and S2, which three methods can be used to
verify software compatibility? (Select three.) 

A. check the VCS release notes for supported software 

B. run the installvcs -precheck S1 S2 command 

C. run the installvcs -check S1 S2 command 

D. run the installvcs -compat S1 S2 command 

E. check the Symantec Enterprise Support website 

Correct Answer: ABE 

 

QUESTION 3

What is a characteristic of the Veritas Cluster Server communication stack? 

A. The HAD processes propagates information to other nodes by way of agents. 

B. Agents communicate resource status information with HAD. 

C. LLT determines cluster membership by monitoring heartbeats over GAB. 

D. Agents can communicate with each other directly over GAB. 

Correct Answer: B 

 

QUESTION 4

What is the maximum number of levels a group dependency tree can have? 
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A. Two 

B. Three 

C. Four 

D. Five 

Correct Answer: D 

 

QUESTION 5

Given the following information: include "types.cf" cluster default_clus ( 

UserNames = { aaron = alkdsjfaldjaldfaH, barbara = ieruhrkafhkafhake, carmen = urHkjREOHGkajhuel, dionne =
lasdjfasiLjirrljl, edward = asdlfjaielajfLKio, fung = EIwfjsldfjaldfjaM, georgia = LlkjLriLKjrleirka } Administrators = { aaron }
Operators = { barbara } CounterInterval = 5 

) 

group group1 ( 

SystemList = { sys1 = 0, sys2 = 1 } 

AutoStartList = { sys1 } 

Administrators = { carmen } 

Operators = { dionne } 

) 

group group2 ( 

SystemList = { sys2 = 0, sys1 = 1 } 

AutoStartList = { sys2 } 

Administrators = { edward } 

Operators = { fung } 

) 

Which users can persistently freeze group2? (Choose two.) 

A. aaron 

B. barbara 

C. carmen 

D. edward 

E. fung 
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F. georgia 

Correct Answer: AD 

 

QUESTION 6

Given the following lltstat output: LLT node information: Node State Link Status Address 0 SystemA OPEN nic0 UP
00:03:BA:37:20:84 nic1 UP 00:03:BA:37:20:85 1 SystemB OPEN nic0 UP 00:03:BA:36:E7:B0 nic1 UP
00:03:BA:36:E7:B1 Which statement is true? 

A. The heartbeat links on SystemB are configured on nic0 and nic1. 

B. The heartbeat links on SystemA are configured on nic0 and nic1. 

C. The heartbeat links are configured using crossover cables. 

D. There is a low-priority heartbeat link configured. 

Correct Answer: B 

 

QUESTION 7

Which two triggers can only be enabled at the resource level? (Select two.) 

A. resrestart 

B. resadminwait 

C. resfault 

D. resstatechange 

E. resnotoff 

Correct Answer: BE 

 

QUESTION 8

Which feature of VCS can prevent overloading of a system\\'s resources in the event of service group failover? 

A. Parallel Service Groups 

B. Capacities 

C. Limits 

D. Load Failover Policy 

Correct Answer: C 
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QUESTION 9

What is the default VCS Web console service group? 

A. WebService 

B. WWWService 

C. ClusterService 

D. ClusterWeb 

Correct Answer: C 

 

QUESTION 10

An administrator has configured Veritas Cluster Server (VCS) to periodically back up configuration files when the
configuration is left open for update. 

What will be the resulting file name when VCS backs up the main.cf files? 

A. main.cf.bak 

B. main.cf.previous 

C. main.cf.autobackup 

D. main.cf.backup 

Correct Answer: C 

 

QUESTION 11

When making offline configuration changes, which command should be run to ensure the main.cf file has the correct
syntax? 

A. haconf ?erify 

B. hagrp ?erify 

C. haclus ?erify 

D. hacf ?erify 

Correct Answer: D 

 

QUESTION 12

A two-system cluster has three failover service groups as shown in the exhibit. The RedSG and WhiteSG service
groups are online on node1; the BlueSG service group is online on node2. All resources are enabled and critical. Which
action does VCS take when a resource in the WhiteSG service group faults? 
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A. The WhiteSG service group enters a faulted state, and the RedSG service group remains online. 

B. The WhiteSG service group enters a faulted state on node1, and the BlueSG service group is taken offline. 

C. The WhiteSG service group enters a faulted state on node1 and fails over to node2. 

D. The WhiteSG service group enters a faulted state on node1, and the RedSG service group is taken offline. 

Correct Answer: D 

 

QUESTION 13

Only two local disks suitable for use as coordinator disks are available for a local muti-node cluster. 

Adding a Coordination Point (CP) Server with which two properties would maximize the resiliency of the I/ O fencing
configuration? (Select two.) 

A. One-node CP server cluster with GAB and LLT configured 

B. One-node CP server cluster with only LLT configured 

C. Second network connection to the CP server cluster 

D. Multi-node CP server cluster 

E. I/O fencing on the CP server cluster 

Correct Answer: CD 

 

QUESTION 14

An administrator is planning to configure a new application service in a Veritas cluster. In the case of an application
failure, the company requires that the node with the fewest running service groups be selected as the failover target. 

Which failover policy should the administrator implement to achieve this requirement? 

A. Priority 

B. RoundRobin 

C. Quorum 

D. Prerequisites 

Correct Answer: B 

 

QUESTION 15

What are two considerations when running a virtual fire drill on a failover service group? (Select two.) 

A. The service group must be offline across the cluster. 
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B. The service group must be online in the cluster. 

C. It checks all types of infrastructure components. 

D. It can check some types of infrastructure components. 

E. All resources have defined actions for virtual fire drills. 

Correct Answer: BD 
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